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Ditto 6.1 #21 — 33

21. sin2—?r:£ cosZ—ﬂ:—l tanz—ﬂ:—ﬁ
3 2 2 3

22, sin~Y—=---  cos—=--—"— tan—=1
4 4

B S 5 B S -6
3 3 —

24, sin3x=0 cos3mr=-1 tan3w=10

25. smn—ﬂ-=—l cosﬁr=£ I‘.anz—ﬂ-:f£ N
3 2 & 2 3 3 Gy =

o e Cton ™ -3 | -G
10:§ 107 *1 30:\/? 3 ?

26, sin 05——=—  tan——
3 3 2
27, sin_zjﬂ-:——2 cos;xﬂ-:ﬂ tan;xﬂz—l
4 2 2
28, 7§ 29, —g 30. —g 31 %

32, M 33, ]
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Reciprocal Functions:
also:
csc = | tan 6= Sin &
Sin® Cos O
_ <o
SeC 0 = am —
Cos © cotg= _CosO
SO
cot O = (\
- Tan®
Nov 29-9:08 PM
Steps:
Factorif possible
Replace withsinorcos
Cancel like terms
1. cotxsecx 5. SeCcxsinx
CQosy | . Svax - SAx
Siax  COK Cos X \ Cos X
Oor or
SIA X CoC 4_“,\ X
2, ﬁ% : @SJY acs % 4. fans{cscdl - A |
x’l . Cot % o 5
R - - St
cos®
VAR
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5. Fillin the missing enftries in the following table. Give exact answers, not decimal
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ot | T "% |9 bwd -2 -3 FREF | junh
ot jond [2 [TZ 84| PB4 [ [und -}
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4. Find the value of the remaining trig functions if cos T = —§ andsin =0
ws A Fied quedmst
sin t= 3/5 csct= 5{3 @ Drau) A

_ - @ R~d the M;ss'on,
cort = g w0134 side (s)
tant= ‘3/ cott=~4/ @F:ﬁ'd "h
(o] 1 3 rémounry ;\SVQ
® 3-4-5 7212

512-1% 9440 4l|
€-15-17
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7. Find the value of the remaining trig functions ifsin t = —% and tan <0

(A

15
@@%“\7"

x‘+ (_“1_“'_1.
xﬂ-‘ 106 _’

mm x'.g
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)

5N 8= == Ve

cosg=== ¢

tcn9=+6

21

&,  Find the wvalue for all six trig functions for 9= ey
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9. Bvolugte allsix frigonometric functions at t, (3, -4], o point on the terminal side of an
angle of t radians in stondard position.

sinf= = csct= -5
f % f ?

cost= 33 secI=5§
tant= -"‘/3 cott= -3/1
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